
ТЕСТИ. ВИЗНАЧНИКИ. МАТРИЦІ. 

1. Обчислити визначник 
58

23
. 

А Б В Г 

1 31 −31 −1 

 

2. Обчислити визначник 128

96
. 

 

А Б В Г 

0 1 72 −72 

 

3. Обчислити визначник 
1

1





nn

nn
. 

 

А Б В Г 

0 1 −1 𝑛 

 

4. Обчислити визначник 

341

235

312

. 

 

А Б В Г 

0 120 40 1 

 

5. Обчислити визначник 

812

278

543







. 

 

А Б В Г 

0 256 158 −72 

 

6. Обчислити визначник 

3413

3020

2324

1432







 

 

А Б В Г 

−1 54 −27 0 
 



7. Знайти добуток матриць 





















52

43

45

23
. 

 

А Б В Г 

(
5 2
7 5

) (
5 −2
7 5

) (
−5 2
7 0

) (
5 2
7 0

) 

 

8. Знайти обернену до матриці 
















 325

436

752

.  

 

А Б В Г 

(
1 1 18

−38 41 −34
27 −29 24

) (
1 −1 1

−38 41 −34
27 −29 24

) (
1 −1 1

−38 41 −34
27 −29 22

) (
1 −1 1

−38 41 −34
−27 29 24

) 

 


